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5% H4X EH EXT TG
BHHN 6 =i 5kg 5= kg 800 EE
BHHN 1% =471 5kg 5= kg 750 EE
BHHN 8E =i 5kg 5= kg 700 EE
BHHN 102 = 5kg i kg 650 EE
=7 WA 6/E = 5kg ] kg 850 /|NH8
=7 WA 1B = 5kg ] kg 800 /|NH8
g A 8 FE 5kg i kg 750 EE
= g A 102 FE 5kg i kg 650 EE
BA4DY 40/45F | dtiEE 4kg 5= kg 800
Ty 28/30 all 5kg ] kg | 1,000
71 8kg dbimE 1A & kg 900 kO EBE
754 2E dtiEE | 10/12keg & kg 800 R A
HYUA 4kg B 1A il kg | 1,100 &M R
huA 3E = 9/11kg i kg 900 A BBER
14+ 5/6FE BEAR | $925/3kg | & kg | 2,700 8 Ex
AXF 2/3E ZiE 4/5kg b kg | 1,800 TBE
AT 5/6E =i 4/45kg i kg | 2,500 EiE
A IRF Skg& K% 1A 5= kg | 2,150 Rl
Y75 2E =i 4/5kg i kg | 2,300 TE
£ B 3E = A 4.5/55kg i kg | 2,800 # i5F
B 4R = Al 4/5kg & kg | 2,600 & BEE
TR 1.5/2kg k2 1A 5= kg | 2,800 FE FEX
B 2kg = 1A i kg | 1,700 EE
B 28 = 3/5kg 5B kg | 1,500 EE
EFYUINE ZiR 500g 7 P | 2200
M7 102 FEE P P | 1,200
BE7 102 BNE 1kg P P | 3500
LT KR 100g P P 500
Hry+ B #9300¢g dtiEE 1= kg | 1,600
1Tavl L5 dbimE | 100gBifiL g kg | 4,600
=PA%#=! 40gUP 518 & kg | 2,000
E/\/B 20/40g FH & kg | 1,900
YT 100/130g it o} & kg | 2,600
YT 150/180g it o} & kg | 2,700
YT 200/250g it o} & kg | 2,800
YT 100/130g g o} & kg | 2,950
4T 150/180g it o} & kg | 2,950
YT 200/250g g o} & kg | 2,950
YT 300/400g FE & kg | 3,500
4T 400/500g FE & kg | 3,600
4T 500/600g FE & kg | 3,600
EHHT 30/40g Lo & kg | 3,200
EHHT 40/50g if]m] 1 kg | 2,950
IEHHT 50/60g o 1l kg | 2,700




